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ECONOMICS
( General )

Paper : 6.2
( Planning and Development in India )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following : | 1x10=10
T fRaARe Tes -

(a) What is democratic planning?

srofEe “iReEe 2

() When was the NITI Aayog’ of India
constituted?

©ed “NITI Scas’ (Feu a7 41 C2fRe 2
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What is the main aim of Import
Substitution Policy of India?

SRS TR R T 70 Sown R 2

Define the term ‘economic globalization’.

“FRASE CMARITINT T 7

Give one argument for favour of
privatization of Indian industries.

SRS TANARE [RFAFIR 0w i I
famm o

What do you mean by SGSY?
SGSY WA & =12

Is India a mixed economy? . Give one
argument.

oS G397 R SR o e 2 9B IR

Mention one objective of ‘Act East Policy’.
‘o e FRCT o1 Sy Temy 70

Write the full form of NEEPCO.
NEEPCO-3 # %11 ot |

Write one important cause of slow
economic growth of India.

SREY T AT TR B @weed TR
feran
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2. Answer the following questions : 2x5=10

wore fa erpiyRd Ted i

(a) Mention any two sources of resource
mobilization of India’s Five-Year Plans.

TR AHRIie AReEArPER R anr R

CICAT 7B1 TR A BCa 11

(b} Give two arguments in favour of
economic reforms in India.

SRS GLATSF FCRIRT 910 701 I weefian |

{c) Write two objectives of MGNREGA.
MGNREGA-3 %51 e o |

{d) Mention two functions of Planning
Commission.

s ScHsR 751 IR Sy 01

fe) Why is the economic growth rate of
Assam slower than all India average?
Give two arguments.

R ST Thge 2R HERON T8 S
el I 59 7 701 I fan
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3. Answer any jfour of the following questions : _
5x4=20

wore i opRe R e oo Ses i -

(a) Discuss the achievements of NEC.

TG~ ARIE TSR HCAL T4 |

(b) Is there any need of foreign investment in
the context of policy of economic self-
sufficiency of India? Give reasons.

TREY FARSE TrASTRIeTel A Afcafres
QP RNEsR” @ aamem AR AIEE 2
PRPIR Bead 741 |

(c) Distinguish between centralized and
decentralized planning.

hige wF Reedigs 1RFEAR 1 oy |

(d) Analyze the salient features of India’s
Five-Year plan.

SRE] A%IRE ARFTR T9 QREPER 39
91

(e) “The Five-Year Plan of Assam is a carbon
copy of Indian Five-Year plan.” Do you
support this view? Give arguments.
‘o RIS ARIEA T SRR i
RPFIR 9 TR AR 177 SR BfRt s
A ? Y faan
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(/) Explain the various features of
decentralized planning of Assam.

Wﬁzﬁﬁwﬁﬁﬁmﬁﬁam

RURIIEZIR

4. Answer the following questions : 10x4=40
TS fa1 eppigRd e fn
(a) How are the strategiés and goals of

economic planning in India changed in
the post-liberalization period? Explain.

TIRNFIN o8 e SAE SRS
ARIFTE (FPE F TAFR (FERA RO
", I A

Or / qd
Describe the achievements and failures
of Indian planning during post-

liberalization period.

SRS THIFATR /O TS ARFEIR
SFerel S RFTOPHR 361 41 1
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(b) Examine the role of Foreign Direct
Investment during the reform period of

India.
AR AERT PG SSS ASTH (I
R g «={rw w1

Or / 941

Discuss the present composition of
foreign trade of India.

WRefeT ITe SROI ([ NS SO
SCATSAT 4 1

(c) Describe various achievements and
failures of decentralized planning of
India. '

SR Reaige Reer [(en oo o
RFeToPiR 3941 7911

Or / 911

Give the arguments in favour of

liberalization of industrial sector in
Indian economy.

SRON wfES Sras Yo7 SRR ACE
41 Iz fa | :
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(d) Explain five important poverty alleviation
programmes implemented by the
Government of India during recent times.

WMo ATHIR® SRO WIT AW
o3 T3 REST [RFIT SOA Jra 47 |

Or / S[1
What do you mean by poverty line?

Explain various causes of poverty in
India.

wREeR MR WA & 2 S TRUOR
RfSa FRETR M ]
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